
Gompertz Function from Verhulst Function
The Verhulst Function (http://www.roperld.com/science/minerals/VerhulstFunction.htm)
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To simplify further calculations, set Q = 1, w = 1 and x0 = 0 :
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The Gompertz Function is

pgx = ln 2
Q
w exp x−x0

w  1
2

exp
x−x0

w .

To simplify further calculations, set Q = 1, w = 1 and x0 = 0 :
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Show that
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Take the ln of both sides:
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QED!


